
Problemas de Valor Inicial

a)

 ty′ − 2y = t3et, t > 0

y(1) = 0
Solução: y(t) = t2(et − e)

b)

 y′ = −ty

y(0) =
√
2

Solução: y(t) =
√
2 e−

t2

2

c)


dy
dt

= et−y

1+et

y(0) = 1
Solução: y(t) = ln

(
ln(1 + et) + e− ln 2

)

d)

 t2 dy
dt

= y − ty, t > 0

y(1) = 1
Solução: y(t) =

1

t
e1−

1
t

e)

 y′ − 2y = t2e2t

y(0) = −2
Solução: y(t) = e2t

(
t3

3
− 2

)

f)

 ty′ + y = t
t2+1

, t > 0

y(1) = 0
Solução: y(t) =

1

2t
ln

1 + t2

2

g)

 y′ + y
t
= cos t, t > 0

y(π
2
) = 1

Solução: y(t) = sin t+
1

t
cos t

1


